1200748 (K12n0745)

Linearized knot diagam

B

4 6 7 9 2 11 4 12 5 6 8 9

-/ Solving Sequence
12

. 4 g 2 —_—> —> —> —_ p— —_— —_ — C C, c
A knot diagran{] 9 1 0 2 010> 112228 > 7 >3 > 11 > 2,66, €10

Ideals for irreducible component#ﬂ)f Xpar

I = (5.55332 x 10740 4 2.14999 x 10w + - - + 1.63199 x 107°b — 9.50449 x 107,

—1.00920 x 1077u°° — 6.14195 x 1075u* 4 - -+ + 4.89597 x 107%a + 2.60239 x 1078, w®' + w0 + -+ + 9u —
I = (ur 4 3u'® — 6u” — 5u® + 190" — 14u® — 34u° + 34u* + 250> — 24u® + 50+ u + 8,

— 19u!t + 3u!® + 89u® — 75u® — 136u” + 321u’ + 41u® — 531u* + 80u> + 341u? + 5a — 64u — 47,

u'? — 5u'® + 3u” + 9u® — 160" — Tu® + 31u® + 3ut — 24u® — 2u 4 5u + 1)

* 2 irreducible components of dim¢ = 0, with total 63 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L.
It = (5.55x1075u° 4+ 2.15 x 10"u* 4. . . +1.63 X 107°6—9.50 X 107¢, —1.01 X
107740 —6.14 X 107%u*? 4 . - 4+4.90 X 107 +2.60 X 1078, u5' +u50+...49u—9)

(i) Arc colorings

e ()
- ()

2.06129u5° + 1.25449u% + ... + 156.424u — 53.1538
—0.340279u%0 — 0.131740u*® 4 - - - — 5.95216u + 5.82387

e ()

< —3.63256u%0 — 2.37017u*® + - - - — 340.652u + 80.1409 >

a9 =

ag = 0.228512u%° — 0.176770u* + - - - — 38.9007u + 9.50612
aio = ( ud + u)
1.72101u5° + 1.12275u* + - - - + 150.472u — 47.3299
—0.340279u%0 — 0.131740u*® + - - - — 5.95216u + 5.82387
1.721010%% + 1.12275u%% + - .- 4+ 150.472u — 47.3299
—0.570525u%% — 0.285333u*® + - - - — 26.8255u + 11.2082
3.13695u5° + 1.91795u* + - - - + 298.052u — 76.5104
ag = \0.639941u5° + 0.374469u%° + - - - + 59.0371u — 16.4493
2.49701u° + 1.54348u* + - - - + 239.015u — 60.0611
a7 = \0.639941u5° + 0.374469u%° + - - - + 59.0371u — 16.4493
—3.394414°° — 1.99256u*® + - - - — 330.150u + 85.1843
a3 = \ —1.49048u°° — 1.03131u*® + - -- — 138.506u + 38.2645

—2.02479u%0 — 1.32882u%% 4 ... — 189.222¢ + 38.3733
a11 = \ —1.71640u°° — 1.07355u*® + - - - — 148.388u + 42.1932

(ii) Obstruction class = —1

(iii) Cusp Shapes = 23.5676u°" + 14.4075u*® + - - - + 1956.28u — 544.212



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ utl — 200 ... —2798u — 211
C2,C5 W+ 200 —10u+ 1
c3,C7 wl =200 ... — 1100 — 11
C4,Cy w0 4 4 9u—9
Cg, C10 W =200 —1Tu+ 1
€8, C11,C12 u —18u® + -+ 13u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y°! 4+ 7050 + - - 4 9533684y — 44521
2, Cs y°t — 1090 + - + 26y — 1
3,7 y°l —40y°0 + ... + 12914y — 121
c4, Co y°t — 519°0 + ... 4+ 6489y — 81
€6 €10 Yt — 8y + -+ 181y — 1
C8,C11, C12 y51 —36y50+~-~+279y— 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

0.966312 + 0.0280117
a = —0.536822 — 0.2790281
b= 10.882354 — 0.2964121

u =

3.13672 — 0.626901

0.966312 — 0.0280117
a = —0.536822 4 0.2790281
b= 0.882354 + 0.2964121

u =

3.13672 + 0.626901

u = —0.752807 4 0.5390361
a = —0.872796 4 0.7197421
b= 0.459364 — 0.1259601

2.93432 — 5.198311

0.+ 6.044541

u = —0.752807 — 0.5390361
a = —0.872796 — 0.7197421
b= 0.459364 + 0.1259601

2.93432 4 5.198311

0. —6.044541

u= 1.08285
a = —0.166192
b= —1.36678

—8.81786

u = —0.237795 + 0.8038081
a= 0.997700 4 0.3045881
b= —0.237661 + 0.5481651

—1.59127 4 1.649541

—10.79264 — 4.975891

u = —0.237795 — 0.8038081
a= 0.997700 — 0.3045881
b= —0.237661 — 0.5481651

—1.59127 — 1.649541

—10.79264 +- 4.975891

u = —1.229440 + 0.0967721
a = —0.45337 + 1.834961
b= 10.96203 — 1.872531

3.25985 — 4.406301

u = —1.229440 — 0.0967721
a = —0.45337 — 1.834961
b= 10.96203 + 1.872531

3.25985 + 4.406301

u = —1.23712
a= 145818
b= —0.238614

—3.66174




Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = —0.205562 + 0.7326171
0.314612 — 0.5274491
b= —0.548118 — 0.9481461

—3.85278 — 3.003721

—11.66965 4+ 6.005851

u = —0.205562 — 0.7326171
0.314612 + 0.5274491
b= —0.548118 + 0.9481461

a =

—3.85278 4- 3.003721

—11.66965 — 6.005851

0.572928 + 1.1047701
a = —0.206310 — 0.2989771
b= 0.320739 — 0.7256711

u =

—0.44013 4-9.461011

0.572928 — 1.1047701
= —0.206310 + 0.2989771
0.320739 + 0.7256711

—0.44013 — 9.461017

—1.223810 4 0.3129771
—0.32338 + 1.523161
—0.38353 — 2.166921

1.53528 — 5.833761

—1.223810 — 0.3129771
—0.32338 — 1.523161
—0.38353 + 2.166921

1.53528 + 5.833761

1.304010 + 0.1265591
—0.351078 — 0.8005051
0.73472 +1.284471

3.37052 4 0.999941

1.304010 — 0.1265591
—0.351078 4 0.8005051
0.73472 — 1.284471

3.37052 — 0.999941

—1.289750 + 0.4523171
0.550918 — 0.3572551
0.193129 + 0.8145671

—1.04630 — 1.131297

—1.289750 — 0.4523171
0.550918 + 0.3572551
= 0.193129 — 0.8145671

> Q& €|l & €| & €| & €| 2 |l Q& 8| & &
I

—1.04630 4 1.131291




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = 0.131606 + 0.5979481
a= 0.755619 + 0.0122971
b= —0.236259 + 0.3470711

—0.317906 + 1.1954201

—3.90544 — 5.432251

u = 0.131606 — 0.5979481
a= 0.755619 — 0.0122971
b= —0.236259 — 0.3470711

—0.317906 — 1.1954201

—3.90544 + 5.432251

u = 1.385030 + 0.2830217

a= 0.04231 — 1.924901 1.21275 + 6.658661 0
b= —0.77123 + 2.302541
u = 1.385030 — 0.2830211
a= 0.04231 + 1.924901 1.21275 — 6.658661 0
b= —0.77123 — 2.302541
u = —1.46412 4+ 0.017841
a = —0.244361 — 1.2041801 5.76286 — 1.138461 0
b= —0.79728 + 1.665271
u = —1.46412 — 0.017841
a = —0.244361 + 1.2041801 5.76286 4 1.138461 0
b=—0.79728 — 1.665271

u= 0.514876

a= 3.02685 —10.7307 10.2750

b= 0.317888
u= 148372+ 0.086881
a= 0.167132 — 1.0094101 4.37936 + 0.982781 0
b= 0.37784 + 1.383051
u= 148372 —0.086881
a= 0.167132 4 1.0094107 4.37936 — 0.982781 0
b= 10.37784 — 1.383051

u= 149336 4+ 0.110131

a = —0.41151 — 1.405521 7.35814 4 6.046981 0

b= —0.51248 + 1.869361




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

1.49336 — 0.110131
a = —0.41151 + 1.405521
b= —0.51248 — 1.869361

u =

7.35814 — 6.046981

u = —0.491947
a= 1.66651
b= —0.0705730

—1.36137

—6.25410

u = —0.399561 + 0.2446291
a = —2.11272 — 0.740591
b= 0.615884 — 1.2467301

1.00696 — 4.569201

—3.90257 4 5.2563201

u = —0.399561 — 0.2446291
a = —2.11272 + 0.740591
b= 0.615884 + 1.2467301

1.00696 + 4.569201

—3.90257 — 5.2563201

u = —1.50785 + 0.383841

a = —0.017099 + 1.1479201 4.58888 — 5.418931 0
b= —0.35140 — 1.573341

u = —1.50785 — 0.383841

a = —0.017099 — 1.1479201 4.58888 + 5.418931 0
b= —0.35140 + 1.573341

u= 157518 +0.199131

a = —0.200647 + 1.3503501 10.54910 + 8.090271 0
b= 10.06483 — 2.137651

u= 157518 —0.199131

a = —0.200647 — 1.3503501 10.54910 — 8.090271 0
b= 0.06483 + 2.137651

u = —0.407564

a= 119912 —2.57791 9.00240
b= —-1.34717

u = —1.61819 + 0.080481

a = —0.265175 — 1.2911107 11.95830 — 0.227601 0

b= 0.19764 + 2.017351




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —1.61819 — 0.080481
a = —0.265175 + 1.2911101 11.95830 + 0.227601 0
b= 0.19764 — 2.01735]
u = —1.58168 + 0.381981
a =—0.17902 — 1.409511 6.4507 — 14.79021 0
b= 0.91256 4 2.001491
u = —1.58168 — 0.381981
a = —0.17902 4 1.409511 6.4507 4- 14.79021 0
b= 0.91256 — 2.001491
u = —0.364492
a = —2.15420 —6.63015 —21.7480
b= —1.45022
u= 1.63613 + 0.318971
a = —0.126349 + 1.1806901 7.91149 + 6.614091 0
b= 0.85837 — 1.71259]
u= 163613 —0.318971
a = —0.126349 — 1.1806907 7.91149 — 6.614091 0

b= 0.85837+ 1.712591

u= 0.169849 4 0.0570021
a = —7.63550 — 0.350361
b= 0.860446 — 0.4740711

0.100763 + 0.8773651

—4.31516 — 3.773291

u= 0.169849 — 0.0570021
a = —7.63550 4 0.350361

0.100763 — 0.8773651

—4.31516 + 3.773291

b= 0.860446 + 0.4740711
u= 187867
a= 0.431311 1.07210 0
b= —0.853122
u = —0.19520 + 1.903911
a= 0.0437236 + 0.0504691I | —0.098440 — 0.7060981 0

b= —0.097631 + 0.4630191




Solutions to I} v—1(vol ++/—1CS) | Cusp shape
u = —0.19520 — 1.903911
a= 0.0437236 — 0.05046917 | —0.098440 + 0.7060981 0

b= —-0.097631 — 0.4630191
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II. 1Y =
(u''+3ul+...+5b+8, —19u't +3u%+...+5a—47, u'2—5u%+...+5u+1)

(i) Arc colorings

o ()

0
ag = U
1 4 4
(et s burg
as = |\ 21,11 °3, 10 1, 8
2 5U U+ 54— 5
1
a5: _u2
(_L;ulwﬁgulu - -
ac = | 3. 11 € 10 .3 1
6 U U+ +Fu+ 5
U
aio =\ —u’ +u
(158u11gu10Jr Jr6573u+?
a1 = 1,11 _ 3,10 .. . _1, 8
! 5U pu + 5U— 3
(R OIS
ajp = \ 8,11 1,10 .. _ 13, 14
12 sUuT T put 54— F
%u117%u10+”'+@u+3§
ag = 7%u1ligu10+“ +$u+
1 4 24
<5£’>u11+5u10+___+6358u+5
ar= (22,01 6,10 . B3, b
7 5U U Tt Ut
<1s7u11gu10+, ,+1758u7%
as= \ 1 400, 10 1
3 U tpu 5U T3
22 1
<—§u11+gu10+- —9—§7u—3§
aij] = \ 3,11 110, .. _ 1, _ 14
1 U tpuT + 5 U~ 5
(ii) Obstruction class =1
(111) Cusp Shapes
— 111 33,10 9,9 o7, u7 216 6+439 5_,'_176 1_135,3 71 2—1—%71—@

5 5 5
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“a u? —utt 4 bu—1
C2 u? +3uMt 20— 1
s u? —utt o 15 - 1
= u —5u' + -+ B5u+1
¢ u? —3utt 4+ —2u—1
C6 W2 My
7 u? +utt o+ 1507 - 1
s u? et Bt
9 u? —5ul 4 —Bu41
€10 w4t o —u—1

C11,C12 u? —utt B

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 y12+7y11+_4y+1
C2,C5 y'? — 13yt . — 6y + 1
3,07 y? -1yt 4 =30y + 1
c4, Co y 2 — 10yt 4+ — 29y + 1
C6, C10 y -yt 4 13y 41
C8,C11, C12 y12—15y11+~-~—27y+1

13



(vi) Complex Volumes and Cusp Shapes

Solutions to IY V—1(vol +/=1CS) Cusp shape
u= 1.21822
a= 179757 —4.03710 —18.0780
b= —0.601851
u = —1.27309
a= 0277397 —7.88309 —1.62320
b= 116135

u = —1.268290 + 0.3304271
a = —0.58188 + 1.78206.1
b= —0.09657 — 2.279131

2.50992 — 6.485741

—1.33595 + 8.547051

u = —1.268290 — 0.3304271
a = —0.58188 — 1.782061
b= —0.09657 + 2.279131

2.50992 + 6.485741

—1.33595 — 8.547051

uw= 1320490 + 0.182645]
a = —0.416916 — 1.1427201
b= 1.12535+ 1.501261

3.03542 + 2.757001

—4.31533 — 2.696111

uw= 1320490 — 0.182645]
a = —0.416916 + 1.1427201

3.03542 — 2.757001

—4.31533 4 2.696111

b= 1.12535 —1.501261

u= 0.638711

a=—0.671197 —6.24905 0.243470
b= —1.41524

u = —1.48898

a= 0.537683 1.74863 —2.66980
b = —0.370407

uw=0.72640 + 1.309917
a = —0.191140 + 0.2589161
b= 0.005412 + 0.4451001

—0.304228 4 0.7692231

—12.9708 + 6.32001

uw=0.72640 — 1.309917
a = —0.191140 — 0.2589161
b= 0.005412 — 0.4451001

—0.304228 — 0.7692231

—12.9708 — 6.32001
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Solutions to I¥ v —1(vol + v/—1CS) Cusp shape

= —0.411452

= —3.50522 —10.9545 —25.9780
—0.610386

—0.240615

2.94363 —2.84629 —21.6500
= —1.23188

U
a
b
U
a
b
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 (u'? —utt o 6u— 1) (! — 20 + - — 2798u — 211)
€2 (u'? +3u™ + - 4 2u — 1) + 260 + - — 10u+ 1)
C3 (u'? —utt + o 4 150 — 1) (uP — 200 4 - — 110w — 11)
Ca (u'? =5t + -+ Bu+ 1) (w + w0+ 4+ 9u—9)

Cs (u'? = 3u™ - —2u — 1) (W + 200 4+ — 10u + 1)
C6 (u? —u 4+ u— 1) (W - 207+ = 1Tu 4 1)
¢ (u'? +ut o 150 — 1)(u® = 200 + - — 110u — 11)
s (u? +utt 4 = 5u+ 1)(u® = 18u? 4+ -+ 13u — 1)
9 (u'? = 5u' - = 5u 4+ D (W + w0+ 4 9u—9)
€10 (w? 4 utt 4 == D)W =20 = 1Tu 1)

c11, €12 (u12—u11+~-~+5u+1)(u51718u49+~-+13u—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1 ( 12 11 o 51 50 _
Y Tyt =4y + D) (v + T0y%0 4 - -+ 9533684y — 44521)
C2, €5 (y'? = 13y" 4+ =6y + 1)(y" — 10y™" + - 4 26y — 1)
cs3,Cr (y'? — 11yt + - = 30y + 1) (y°' — 40550 + - - - + 12914y — 121)
C4, Co (y'? — 10yt + - — 29y + 1) (»°' — 51y°° + .- 4 6489y — 81)
C6, C10 (" =7yt - =By + (Y -8y + -+ 181y — 1)
€8, C11,C12 (y'? — 15y*t 4+ — 27y + 1) (y® = 36y°0 + .- + 279y — 1)
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